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Description automatically generated]Stock Exchange Game

	
	Stock 1
________________
£_______________
	Stock 2
________________
£_______________
	Stock 3
________________
£_______________
	Bank?

£_______________

	Event 1



End total:
£______________
	Inc (+)/Dec (-) ___%
Multiplier: ____
£_______   ____
= £___________  
	Inc (+)/Dec (-) ___%
Multiplier: ____
£_______   ____
= £___________  
	Inc (+)/Dec (-) ___%
Multiplier: ____
£_______   ____
= £___________  
	Inc (+) 5%
105% = 1.05
£_______   1.05
= £___________  

	Event 2



End total:
£______________
	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+) 5%
105% = 1.05
£_______   1.05
= £___________  

	Event 3



End total:
£______________
	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+)/Dec (-) ___%

	Inc (+) 5%
105% = 1.05
£_______   1.05
= £___________  
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